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Score tables

5 tables, 9 pairs, 1 phantom pair. Number of boards
Average+/=/- awards 60 / 50 / 40 %.

Rank Pair Score % Name

1 10 131,8 61,0 Eino Nygren - Olli Rahi

2 6 126,8 58,7 Arvo Priimagi - Borje Salo

3 9 1255 58,1 OssiLaakso - Kari Kanerva
4 2 110,5 51,2 Matti Kankaanpéa - Varpu H
5 1 106,8 49,4 Nikolai Kaplitsnoi - Johan

105,5 48,8 Timo Makela - Jarmo Laakso
89,3 41,3 Reijo Haartola - Antti Voi

4 89,3 41,3 Jorma Vapaa - Harri Virta
9 5 86,8 40,2 Kari Launis - Markku Juva
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Board: 1 Board: 2

Pair Contr Result Score Pair Contr
4 6 3NxxN+1 1000 7,80,3 4 6 4S
9 8 3Hx E-1 100 5328 9 8 4S
10 1 5Cx N-1 -100 2,8 5,3 10 1 Pass
523N N-3 -150 0378 5 2 3S

-3 A=/A= 40 -3
Board: 3 Board: 4
Pair Contr Result Score Pair Contr

4 6 25 W+3 -200 7,80,3 6 3 3N

52 4S W = -620 2,85,3 8 4 1S
984S W = -620 2,85,3 10 2 2N
101 4SS W= -620 2853 19 2D
-3 A=/A= 40 5--

Board: 5 Board: 6

Pair Contr Result Score Pair Contr

6 32H S-1 -100 7,80,3 10 2 1IN
10 2 2C W+2 -130 5328 8 4 2S
842S W+1 -140 2,853 1 9 1IN
191N E+2 -1500378 6 3 1N

5-- A=/A= 4,0 5--
Board: 7 Board: 8
Pair Contr Result Score Pair Contr

953 w-1 100 7,80,3 2 1 6Sx
6 8 3N E+1 -630 4,04,0 6 8 4Hx
10 3 3N E+1 -630 4,040 95 6S
213N W+3 -690 0,37,8 10 3 4S
-4 A=/A= 40 --4

Board: 9 Board: 10

: 27. Average: 108,0.

Club

Salon BK
nen Salon BK
Salon BK
onkakoski Salon BK
Johansson Salon BK

Salon BK
tto Salon BK
Salon BK
Salon BK

Result Score
E-1 50 6,515
E-1 50 6,515

0O 2853
E = -140 0,37,8

A=/A= 4,0

Result Score
E-2 200 7,80,3
E-1 100 4,040
E-1 100 4,040
W = -90 0,37,8

A=/A= 4,0

Result Score
S+1 120 7,80,3
E-1 100 5,328

S= 90 1565
S= 90 1565
A=/A= 4,0
Result Score
N = 1210 7,80,3
E-5 1100 5,328
N = 980 285,3
N = 420 0,37,8
A=/A= 40




Pair Contr
6 84S N =
9 51S N+3

Result Score Pair Contr
420 7,80,3 10 4 2H
170 4,040 3 2 1IN

10 3 2H N+2 170 4,040 85 2N

214S N-1

-50 0,378 16 2D

-4 A=/A= 40 -9

Board: 11
Pair Contr

Board: 12
Result Score Pair Contr

10 4 3N S+3 490 7,80,3 10 4 2N

854S N = 420 5328 85 3D
16 3N N = 400 2,853 1 6 2Nx
324S N-1 -50 0,37,8 3 2 2D
-9 A=/A= 40 -9

Board: 13 Board: 14

Pair Contr Result Score Pair Contr
816D S = 1370 6,515 10 5 4C
10 5 6D N = 1370 6,515 4 3 2D
9 6 3N S+3 690 2,853 81 3H

4 33N N+1 630 0,37,8 9 6 4H

2 -- A=/A= 4,0 2 --

Board: 15 Board: 16

Pair Contr Result Score Pair Contr
96 4H W-1 50 780,3 9 2 3S

4 32H W+1 -140 5,32,8 5 4 3Dx
10 5 4H W = -420 2,853 3 8 4S
8 15H W = -450 0,37,8 10 6 4S
2 -- A=/A= 4,0 1--

Board: 17 Board: 18

Pair Contr Result Score Pair Contr
544S E = -420 7,80,3 9 2 4S

3 84S E+2 -480 2,853 3 8 4S

9 24S E+2 -480 2,853 5 4 4S
10 6 4S E +2 -480 2,85,3 10 6 4S
1-- A=/A= 4,0 1--

Board: 19 Board: 20

Pair Contr Result Score Pair Contr
6 525 E+2 -170 7,80,3 2 8 6N

4 9 3Hx N-2 -300 5,328 6 5 3N
134S E+2 -680 2,85,3 1 3 3N

2 85Cx S-5 -1100 0,37,8 4 9 3N
10 -- A=/A= 4,0 10 --

Board: 21 Board: 22

Pair Contr Result Score Pair Contr
134S S =620 6515 10 8 3C

6 545 S =620 6,515 39 3S

4 9 2D N+2

130 2,853 51 3H

Result Score
-4 400 7,80,3
-1  -100 4,04,0
-1  -100 4,04,0
-2 -200 0,37,8

A=/A= 40

E
S
S
S

Result Score

120 7,80,3
-100 5,32,8
-200 1,56,5
-200 1,56,5

A=/A= 40

N =Pl

Result Score
4 200 7,80,3
= -90 5,32,8
-2 -100 2,85,3
3 -150 0,37.8
A=/A= 4,0

Result Score
W = -140 7,80,3
S-3 -500 5,328
W = -620 1,565
E = -620 1,56,5

A=/A= 4,0

Result Score
E = -420 7,8 0,3
E +1 -450 2,8 5,3
E +1 -450 2,8 5,3
E +1 -450 2,8 5,3

A=/A= 4,0

Result Score
W-1 100 7,80,3
E +1 -630 5,32,8
W +3 -690 1,56,5
W +3 -690 1,56,5

A=/A= 4,0

Result Score
S = 110 7,80,3
N -3 -150 5,32,8
E +1 -170 2,8 5,3



284S S-1 -100 0,37,8 2 4 3Nx

10 -- A=/A= 4,0 -6

Board: 23 Board: 24

Pair Contr Result Score Pair Contr
24 1IN N= 90 7,803 24 3N
513N N-2 -200 4,040 51 1IN
10 8 3S S-2 -200 4,04,0 10 8 1IN
394S sS-3 -300037,8 392D
-6 A=/A= 40 -6

Board: 25 Board: 26

Pair Contr Result Score Pair Contr

10 9 5Cx wW-2 500 7,80,3 10 9 3N
6 23H N= 140 5328 35 2S
353 E-1 100 2853 62 3D
412 S-2 -1000378 412D

8 -- A=/A= 4,0 8 --
Board: 27
Pair Contr Result Score

10 9 6Nx W-5 1100 7,80,3
415C W-1 50 5328
352N w+3 -210 2,85,3
6 23N W= -400 0,37,8
8 -- A=/A= 4,0

Score tables

N-6 -1400 0,37,8
A=/A= 40

Result Score
W -4 200 7,80,3
N+1 120 4,04,0
S+1 120 4,040
S-1 -50 0,37,8

A=/A= 4,0

Result Score
-2 200 7,80,3
= -110 4,04,0
= -110 4,04,0
+2 -130 0,37,8

A=/A= 4,0

W
E
E
E




